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INSTRUCTIONS TO CANDIDATES

This Booklet containg 200 gquestions in 8l comprising - the

following four parts |
Part A :General Intelligence and Reasoning (50 Questions)
Part B .General Knowledge and General Awareness (50 Questions)
Part C :Quantitative Aptitude {50 Questions)
Part D |English Comprehension (50 Questions)
In questions set bilingually in English and Hindi, in case of
discrepancy. the English version will prevail.
All questions are compulsory and carry equal marks.
The paper camies negative marking. 0.25 marks will be deducied|
for each wrong answer,
Before you start to answer the questions you must check up
this Booklet and ensure that it contains all the pages (1 - 24)
and see that no page is missing or repeated. If you find any
defact in this Booklet, you must get it replaced immediately.
You will be supplied the Answer-Sheel separately by the|
Invigilator. You must complete and code the detsils of Name,
Roll Number, Ticket Number and Test Form Mumber in the
Answer- Sheet carefully. You must also put your signature and
Left-Hand thumb Impression on the Answer-Sheet al the
prescribed place before you actually stat answering the
quastions. These Instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated.
Answers must be shown by completely blackening the
corresponding circles on Side-ll of the Answer-Sheet against the
relevant question number by Black/Blue Ball-point Pen only
Answers which are not shown by Black/Blue Ball-point Pen will
not be awarded any mark,
A machine will read the coded information In the OMR Answer-
Sheet. In case the information is incomplete or differant from the
information given In the application form, such candidate will be
awarded 'ZERD’ mark.
The Answer-Sheet must be handed over to the Invigilator before
you leave the Examination Hall
Failure to comply with any of the above instructions will
render a candidate liable to such action/penalty as may be
deemed fit.
The manner in which the different questions are ta be answared
has been explained at the back of this Bookist (Page No, 24)
which you should read carefully before actually answering the
questions.
Answer the guestions as quickly and as carefully as you can
Some questions may be difficult and others easy. Do not spend
toa much time on any question.
No rough work is to be done on the Answer-Sheet. Blank
spaces provided at various places in the guestion bookiet|
may be used for rough work.
“Mobile phones and wireless communication devices are
completely banned In the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other
wireless communication devices with them even in switched
off mode, in their own interest. Failing to comply with this
provision will be considered as using unfair means in the
examination and action will be taken against them including|
cancellation of their candidature and future debarrment from
appearing in examinations conducted by Commission®
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Far A General Infeligence and Ressaning / HoT & S1ArT GIaerr oF aduier

S e ol g g e I W

Part A: General Intelligence and Reasoning
I %: HHAFT {fEAer e abufe

1)  Which is the correct image if the picture is held in
front of a mirror?

Tt o &1 ador & wee @ 3 At IR Ed
yfET T e 2

_/’,T' L

T) DCBA:WXYZ::lJKL:?7

A} RQPO B) PONM

C) QPON D) SRQP
B) 9:24 :: 7:86

A) 5 B} 3

C) 2 D) 1

Directions: In Question nos. / fRdr : X7 T&AT 9 to 10 & one
or two statements is given followed by two conclusions | and Il,
You have fo consider the statement to be true, even if it seems
to be at variance from commonly known facts. You are fo decide
which of the given conclusions can definitely be drawn from the
given statement. Indicate your answer,

% 77 &t aFeEw Rar A fawd st 3t v st
Rwra e | Jrawt R wvar d ) avew wer o aw
TS TV T & Bt Tl glar 61 o) Frofy
AT 5 R 70 awey X & #er @y e v & e
[t [Bwar a1 gward | s 3w R A

Directions. In Question nos. / fAder : ¥ H&AT 2o 3 & from
the given alternative words, select the word which can not be

9) Statement : Cactus plants are fleshy but need least
water
Conclusions: | : All fleshy plants are cactus

formed using the letters of the given word: Il : Cactus plants need least water
mm##ﬂﬁﬁﬂ?ﬂ?ﬂ?ﬁ# THET - $eeE Y RE B § AR 3w O
AT H7 G S0 7@ a5 g & ymmEm e 2
2) CHARACTER e | W R Y S AR
A) CRATE B) CHARTER Il : e otelf #1 51 9 9 AEFar a
C)HEARTY D) TRACER .
3) ADMINISTRATION A) Bothland ll follows. B) Neither | nor Il follow.
A) Station Minister fore=e | 3w 1 2= I T # & FrE &
C) Ration D} Mind AFTa fovserd =t Ryaeran
Directions: In Question nos. / /% - v&7 TEAT 4to 8 __C) Only Il follows. D} Only I follows.
Select the related word/letters / number from the given Fas o || dae s | Pseren
aﬂmms- [ : aﬁm%| a"[
v 7w fewreat & @ wrateerer s/ snanet! wear w ghw|
4) DHLPTX:BFJNRV :: CGKOSW : ?
A) IJKLMN B) AlOMUQ
)g,)»AEIMQU D) UMQEIA
5) hive : bee : eyrie: ?
Tl | AYHFEr - SaraE: 7
A) Parrot / drar B) Eagle /73
C) sparrow/RfFmr P Ppigeon /weR
6) STAR :RATS ::WARD: ?
_A) DRAW B) SHINE
C) MICE D) FAME f
JMJZ075 1 B176586 2 L




P & Geeers’ Isbaligence and Reasoning / J9T & FHT §EeeT IF JeET

Direcsions . In Question nos. / fAdwr : W7 84T 110 18 7,
find e odd numberfietters/inumber pair from the given

W) sistements / geEd:

(a) :Some schools are Laboratories /| §6G ¥R T
WA & B av Besul & & fvw g&ay | s | a4 gow giav|
{b): All Laboratories are theatres / T3 EmRIET 13)
AT §| A) (57) B) (2031)
Conclusions / o=y P47 AT D) (11.13)
(1) :Some theatres are schools / T ACTIET 14)
e ¥l A) mmm gqgq tt B) bbbfffjj
(I} :No School is a theatre / 1% 8 T AreTATT C) ccc ggg kkk }} kkk ooo sss
T > 15)
A) Neither Conclusion | _I;J/Conclusion | follows. _A&) HIUL B) QIEM

e iy foreae | Fovaeren & c) ZOWv D) TEAP

osRd | U4 || H § g

#r 72T eretan| 16)

C) Both Conclusion 1 & Il D) Conclusion |l follows. A) 9100 B) 8110

follows, foreard || FPrraaT &) c) 1234 D)1188

e | v || gt

e §) 7

A) Marigold / 3aT B) Tuiip/ zafry
11) |f a mirror is placed on the fine MN, then which of c) o D) ®

the answer figures is the right image of the given Rose / [eTer Lotus / &&e
figure,
Tfe T g9uT FT MN T W I@ A, A adr3eew 18)
Hrp et 7 & Flet H Jpl 5 B A HE A) Brass | drae B) Steel / seur
wfcrfae gt 2 C) Tin/fer D) Bronze / FiET

19) A circular sheet of paper is folded in particular
manner, punched once and then unfolded. Find out
the manner in which the paper was folded and
punched from amongst the answer figures.

TS eI HTaTa I Oah faehy ot & Hiey o § i

i I A fony v A R 0% @ien T & | 3eaT it
/—&\ /@x\ @ @ 1 2@ X aaE0 F 38 B sea WA F R
W |

& & Ase BRa frar e g |

oy o o c) D)

12) How many faces can you count in this 3 -
dimensional model 7

55 3 s A & e gt 2
A) 18 B) 14
c) 16 D) 12 D)
1
(!
-
JMJ20757 8178586 3 PT.O
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Part & Gaversl Inisligence and Reasoning / 5737 & BT §RT=T v 74w

: ; 25) Asmange the following according to dictionary.
Directions. In Question nos. / @& : ¥97 F&IT 20to 22#, mm#mm*mm
select the missing mmmm s 1. Fenestration 2. Feather 3. Feed head
v are Reeel & 8 gv 3% wia 37| 4 Feature 5 Feminine
20) _KA) 24351 B) 42315
C) 24153 D) 42351
? 10
3 4 Dirsctions: In Question nos. / Rder : W7 TEIT 2610 27 7
6 which ome set of letters when sequentially placed at the gaps in
. ey py the given letters series shall complete it?
T & &S & S W sHaR vEd & &t
A) 24 B) 19 FET AFETE QU Eiam
C) 18 D) 12 .
26) LU_TUPLUBTU_LUBT P_UBTUP
21) 9 E ? __AY BPUL B) BUPL
: b 3 C) LBPU D) PBUL
b | AR 27) B_CCABB_CABBC_AB CCA
A) 10 —B) 7
C; 9 D]T 8 A) BCBC B) BBBC
)y BCCB D) BBCC
29 2B) Which of the following staie the relationship
8 12 14 ‘ between Sociology, Psychology and Humanities?
6|54| 7 8[51|4 8][7]5 FTRTEE 7 @ wa F ael s,
4 7 9 | AATE= A Awea S fT U S gy
A) 71 B) 76 e
c) 53 68 o = .
23) Change symbol and solve accordingly to find L o
correct answer from the alternatives given below: A) B) =5y D)
e B arv Renedt &1 58 30av 79 w9 & fAv e
TaEe 1 sefaT 3R egER W Ew P Directions: In Question nos. / @& : X397 W&AT 2910 30 &
Ox8x7 =24 4xTx3=14 6 2x1x9=7 Which answer figure will complete the pattern in the question
_A) 12 B) 11 gurs 7
c) 10 D) 18 Flerd! eV HTPI T HTPIA & GIowy &) r

24) From the given answer figures, select the one in
which the guestion figure is hidden/embedded.

ar I Iea HTAAT A & 37 Il Apla F gAT
Srwd weet amgfa A &2
e I\

O
o

Ho WA D) D
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Swr & Semessl Inisfigence and Reasoning / ST & R Qo= ©F ahuinT

E- (“' S ]'I i Eae

3
»ﬁ _/Aﬁ A%
P § c) D)

31) From her home facing south west, Kavita walks
15m and turns northward and walks 12m. How far
was she from her home, which was her starting
point?
o=t &Y § fErvr-afas i 3K g &0, Fiaar
15T, T & 3 T 3037 &1 30 7Ea 129
oA & | 98 M99 B H S SHE WIS e T, 58

fera gz &7

A) 12m
C) 10m

B} 9m
D) 15m

32) Two horses A and B run at a speed of 3:2 ratio in
the first lap; during the second lap the ratio differs
by 4:7; during the third lap the ratio differs by 8:9.
What is the difference in ratio of speed altogether
between the two horses.

arag A 3T B Uge e A 3.2 dEua A A &
glear ¥ gHY gt & 3T de e WY 4.7 S AT
I 9T A A9 da & 8:9 & AT &) ar
T1ST & &fe el Ao Hagard # fehca HaT 87
A) 1 B) 2 _

C) 4

33) Keeping her back towards the rising sun , Reshma
starts walking. After a few minutes she turns left
and keeps on walking. Then a little later she turns
right and then left. In which direction is she going at
the moment?

sfea 819 g $r 3 ol dis w3, AT g9 4
A ¢ | T AeTe 91E 98 910 §F7 Sdr ¢ AR Tec
TEAr & | 79 4 3T @ 9% o e ae § A R
&0 AT ¢ | SHeOTEE e R A ST @ B2

A) West or North / B) Eastor South / & =7

Directioms: In Question nos. / Brder » 97 84T 340 3158 A

wors = represented by only one set of numbers as given in any
ome of e alternatives. The sets of numbers given in the
shematves are represented by two classes of aiphabets as in
swo mattices given below. The columns and rows of Matrix | are
mumberss from 0 to 4 and that of Matrix Il are numbered from §
m & & emer from these mafrices can be represented first by its
\row #nc pext by its column, e.g. ‘E' can be represented by 01 13,
etc and ‘L' can be represented by 56,77, etc. Similarly, you have
to isentfy the set for the word given in each question,

= v FI0 UF HEAF-FHE AN AT AT, AT #
St A d wtve A Baraar | Reevi#d B
FEraAE Al & gt aat gany gete e & Ser A 2
vzt 3regEl A | HYE - | F FAH T AR FrEEar0 d
& F v sregE- 1) 15 80| 2T IegE @ vw s
oW IHST IR W a A FEH FEGT 50 G S
Fwar#| IEERVT F fATE F101,13 3012 ganT FufAr
FEaTE UL’ #5156, 77 Ffa gAnT avtar s awar | g

F7F & v v # R ez ¥ A0 gHE # gFeraar #|

34) LANE
| MATRX . 1 MATRIX - 2
0|1]/2[3]4 56 7[8/9]
0[Z[M|S|RIC| |5 X|KITE|S|
1/J|L|D[BIG| |6 Q|A|U|Y[P|
2MB CMH 7UVOWE|
3RIL/N/S/I| 8 T|YAEU
4B DMRJ 9 XOE|VA
A) 1167 3297 B) 116633986
C) 31663397 D) 31873297
35) AIRS
_ MATRIX. 1 MATRIX -2
o[1[2]a7a] | [s|s]7]slg]
0O AIEMNP 5 I|LR[ST
1 NJP/AIEM B RIS T|IL
2 EIM(NIPA [7IT|IIILIRIS
3 PlAJEMN [8LRS|TI
4 M|[N/P AE |98 T I|LR
A) 24 69,56, 78 B) 00, 68, 78, BE A
D} 43, 55, 86, 95\

¢} 12,76,99, 78

36) |If a represents *, b represents +, ¢ represents - ,
and d represents x then 24a 6d 4b9c 8 =7

Al a+ F @A E b+ F G E, ¢ - F AT E,

T ;ilmax::ﬂm:wa: .{)f*"’i 1
C) North or SOUH'IISET‘EL.SDUih or West / e :'9 CO=o i . 2 %
ZfayoT afeoT 3T 3ias o :
i c) 20 D) & X {_’;’
IMJZ075 1 6176566 5 P10 e
r_f
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Fan A General inteligsnce and Reasoning / 37 & FweT §R3mmT 0T T

Directions: In Question nos. / fadfer : ¥e7 &&4T 3710 38 # a
mﬁmfsgﬁm.wﬂhmmmmmmmg.ﬁman‘mmm
aﬂomarfveﬁnmmegfvmmuthatwiﬂmmphm the series,

T HgwA R 8, 3w v &t vg g | Re av Resyr

###Wﬂmgﬁva‘?ﬁmﬂwaﬂ
37) 24,3520 31, 16, 27, _,
A) 8,25 B) 9, 9
O 12,23 D) 5,30
38)
; = G W 2
< ??,36.95,121,155,_
o IR
' o 50 2 4
ok < 162
:'~~ 35 o ']54 3
i A) B) c) D)

39) Which one of the given responses would be a

o meaningful order of the following?

. mw##mmﬁmmmmmn
T AT |
1]Rivuletmﬁa5r 2) Ocean | PR
3) Tributory /| HETI% &r  4) River / &1&r
J 5) Sea / §Hz 6) Rain / a9t
) A) 561324 B) 653124
D) 641352

613452
i =<2

40) Select the answer figure which is the same as
question figura,

ﬂ#miﬁﬁrqﬁva‘rmaﬁﬁrﬂ?m%[

41) How many triangles are there in the following
square?

PR ot & Rraa Raw &

Fil

A) 7

C) B L/H/}‘H

D) 9
42) Wnich Venn diagram truly represents Teachers,
Scholars and students?
T 3 o e, Raae, i ot e an
wRAE b

e,

U i D)
43) Which figure best represents the relationship
between Editor. Newspaper and Journalist?
T IS SveE. FAEN 93 N TEE S O
WS FESs ST

—

P
b s

|
1206 €D i X
i_‘— A, [
A) Bj 9, D)
44) It GOODNESS is coded as HNPCODTR, how
GREATNESS can be written in that code 7
a2 GOODNESS #t HNPCODTR #rg & frar airar

& & 23 Sz & GREATNESS #' 3 frar smzer |

A) HOFZSMFRT B) HQFZUFRTM
C) HQFZUODTR D) HQFZUMFRT

45) A man climbing up a wall of 24 meters high. He
cimbs 16 m on one day but slipped back by 3m 40
cms in the evening. How far had the man reached
on that day?

24 e 550 SR 9T T a1 U e o R A
© 16 e 9ar | S T ww # 3 A 40 3 A
e 7127 | 3% faw @ aneah el ax w8

A) 12Zm40cms ) 12.6m
C) 19m4d0ecms D) Md4m

JMJ2015 7 8178586
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Far & Sasecs imeligence and Reasoning / 5177 F Fees T 78 FatiiaT

48) A piece of paper is folded and cut as shown below
in the guestion figures.From the given answer
figures, indicate how it will appear when opened,

1 9 HITaal # BT HEEn S S A #1
FICH aYT Wieel F 16 g [F8 ool HHid or

g & 2

50} Two persons A and B get the same sal=ry Their

Basic pay are different, The allowances ar= 85%
and 80% of the basic pay respectively. Wnst is the
ratio of the basic pay?

Zt zmfEa AR B F o daA oA & | e as

57 e e © | e A9 994 & AT 65% =
80% & | 7 &a & HeOa FEr R

: A) 7:5 A 12: 11
4 ; = c) 11:10 D) 17:15
= ¥ 1 |
. }- i . ¥ A
o o ] o 0
4] [#] e a
o +] o 0 Q
A) B) C) D)
In a language FIFTY is written as CACTY. CAR as
POL, TAR as TOL, how can TARIFF be written in
that language?
f#r 59T 3 FIFTY T CACTY, CAR T POL, TAR
I TOL foar Sirar & & TARIFF &t 33 s & 3
o srET?
A) TOEFDD B) TOEFEL
C) TOLADD ‘,,D_l TOLACC
48) Some eqguations are solved on the basis of ceriain
system. Find out the correct answer for the
unsolved equation on that basis
F0 FHRIOT Rl saver F U WEd Ry
| 38T 3R 9T & A R 10 AT T 98 Iece
EGEoiEn|
TxBx4=0674, 8x5x3=583 8x1x2=7
A) 727 B) 292
C) 462 Ql,.m
49) Choose the similar group of numbers on the basis
of certain common properties they possess:
et HEanat & wag w9 Ao Gad g
HHTY 0T G |
(31,19,41)
_-A) (29,17,37) B) (23,33,51)
C) (27.29.47) D) (16,27,11) ‘},
P
JMJ2015 7 B176586 7 PT.0




Payi B: Genersl Knowiedge and Genersl Awareness / 55T & FIS=8 7T 0F S ST

HHERFFTERR LA N

Part B: General Knowl

Awareness
1l G o L s o M1 G R
51) Who among the following Mughal rulers banned
music and dancing?

AR A afw e ams A e ik ae
OT GTSEEr AT A47?

e and General

A) Babar / aat B) Aurangzeb / 3trersa
€)' Humayun / geT D) Jehangir / st

52) To whom the President has to submit his
resignation?

I ST HIAT eI R W e gl 27

A) vice President /39 B) Speaker / i

asgafa e
C) Prime Minister / 5t D) Chief Justice / &
FHAT Fararefar

53) Government of |India has decided 1o
integrate with recent launched Pradhan
Mantri Krishi Sinchayee Yojana

ST BHN o BT 3 U 6 I8 wora 741 5% o
AT & ATy R vhigpd e & Ao

54) The equilibrium price of a commaodity will definitely
rise if there is a/an:

TR TS TaTT AT A PRI s A g FE
g g?

A) increase in demand
> accompanied by a

B) increase in both
demand and supply.

decrease in supply. = AT 3T 3R
WIERTRTTN  vthmment)
AU AA A TR A

increase in supply
combined with a
decrease in demand.

anm s s oy
w3 # i g
gl

55) What does the word ‘amphibian’ means?
‘THOT' S, FT WA FATE?

I
C) decrease in both D)
demand and supply..

Fa AT AT AR
2l # A B |

B) Three lives / e she
D) Two lives / & sfrg

A) One life { TF St
C) Fourlives / TR 3T

56) If the Union Parliament is to assume l|egislative
power over and subject included in the State List,
the resolution to the effect has to be passed by
which of The Tollowing?

afg FE wHE F o9 g A afaw aurd afFegt
3 Forwat a7 gt e 81 A U 3T # A

A) Haryali E}l Accelerated Irrigation
Efrare Benefit Programme s gar O R Sy
wafte ferand amy §
A) Rajya Sabha / =0 B) Both Lok Sabha and
FEAFH Rajya Sabha
C) National Rural D) Mahatma Gandhi T oY wer A U
Livelihood Mission Mational Rural s
e TTEOT S Employment
Guarantes Act C) | ok Sabha | #te wsr D) Lok Sabha, Rajya
= FETeA A Sabha and
; legislatures of the
TTHTOT TSI TAEET concerned States
S e o 4
e Ase
57) Which of the following is the major copper
producing country?
TrATaTad # & Fle A7 &3 JET J1ar IeeE a3
g7
A) Indonesia /Z2@fEar B) sri Lanka / 8 s
C} Russia / &4 D) chile / fret
JMJ2015 /8178586 B PT.O




Pari B: Genersl Wsssstedipe and Genaral Awarenass / NIfT & TiFwH 7 0F BT S

58) An electron microscope gives higher magnifications

than an optical microscope because:

Foiarge gEmesl, ey geAeet ¥ 3o et
Fat e &7

ﬁ) The wavelength of
< electrons is smaller

B) The electrons have
mare energy than the

as compared to the light particulars
;?;ah\;elength of visible ZerereT & yeer SOl
e £ L]
B[S TEHIer
Tt A FA A

C) IThnss electron D) The velocity of

electrons is smaller
than that of light

microscope uses
more powerful lenses

Foe geAes A Solerge 1 ST e
it ufEFamer FANAFAETE|
ST & ST

S|

59) The forests which act as barriers against cyclones

are:

I deT TehaTAl & HENUEF & FE ST F T aa ST
adr

A) Alpine forests / B) Mangrove forests /

Heares aq g &
C) Monsoon forests / D) Evergreen forests /
e g TaEe 8

60) Total internal reflection can not take place when

light goes from:
38 EAT GO HTea e Waee A4 & Tl & 5"
TR0 -——

A) glass to water B) water to glass

e A BT qA A qh & T A
ST g AT #]

C) glass to air D) water to air
wie & g arg oo & AET A
T & A 81

61) T™he market equilibium for a commodity is

determined by:
= e 1 II9R Agad ey Wi e s
)

A) The market supply of B) The balancing of the
the commodity. ~ forces of demand

AT AT and supply for the
i b commaodity.

aeg fram Ak
HfS & afFagt s
GESE]

C) The marketdemand D) The intervention of
of the commodity. the Government.

a¥d F1 T 77| TIFR F1 TFT|

62) Aluminium salt commonly used to stop bleeding

is?
TFaEAE & e & fore 3raah w e
UegHEITREH waoT & S srar g 2
f./l Potash alum /drerer  B) Aluminium sulphate /
p— T ek
C) Aluminium nitrate/ D) Aluminium Chloride /

TegHEITAaH ASeT TegH g FAREE

63) The Members of the Constituent Assembly which

enacted the Constitution of India were:

Sre iU |8 gamr sia & Hfaur &
Hiefamas fvar mar, 30+ ey i 47
A) MNominated by the B) Directly elected by
Political Parties the People
TS e GeT G@nT Fret gan e
afde IGEIEG]
C) Nominated by D) Elected by the
Governor - General Legislative
AT AT A Assemblies of
= various Provinces
AR e aeat #r
[EDICRCE I Ey
faifea
Chemical name of Gammaxane is
ARFEA T TETGTAE AH FrE ?
A) Toluene / Zo B) Benzene
hexachloride / =it
EFaTEFANES
C i
A} Chioro benzene / D) Aniline / vRrS
FERTEAT
PTO

JMJ2015 7 8178586
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65) Aclone is a group of individuals obtained through

Feoidh (FellT) et aTee gemsat & wag B
A) Hybridisation / B) Micropropagation /
FEERTOT HEATTT
©) Self poliination /=@ D) Cross polination /
S HET-GR7T0T

66) Which of the following is used in the treatment of
cancer?

T F IER # RraiEa & @ frws vghr B
SR ?

A) Chemotherapy / B) Electrotherapy /

7 S ey
C) Physiotherapy / D) Psychatherapy /
TenTSrTer wrErEdy

67) The largest current, because of its dark waters is
known as the ‘black current’ and that is -

a5 Fi O TEd A v E S sus e anh &
FIROT ‘AT UHT Y FEr Fiar &2

A) Gulf Stream / ey B) California Current /

70) Who was the govemnor - general during the Second
Angio-Mysore War?
TN I A TS - ST A A

A Wiemtimings!  B) g iohn Shore /T
=F fEE e

©) Lot Commatis /a8 D) Lorg Wellesley / &%
s=E=taE Eird

71) The i=rgest forest which covers 25 percent of the
workd's forest tand is:

== 25 5T 5 9 sreorfia s aTer wed

S EESEATE?
A) Monsoon forest B) The tropical Rain
forest
FEasad ;
3IwoT Ffeatiy avias
C) Taiga forest of D) Temperate forests of
Siberia Europe
FEATET T a T & ofrareoT
wicaty a7

72) In a computer system, which device is functionally

T Hareferar am opposte of a Key-board ?
C) Kuroshio Current/ D) Antarctic Current / BN S ak
R ey e umr R S 1
Al Mouss 1 m5m B) dware
68) RAM is used as a short memory in a computer : - L <t
because it: C) Joyssckisates D) printer/ fict
RAM =T 9T srgey & oité AAHT & 30 far s :
& iife: 73) Immunization technique was developed by
' Ve aRA = e s e am
A) s very expensive B) Has less capacity
TF TR FET R | S T e A A) Louss Pastewr /¢ B) Joseph Lister / aw
C) Is programmable D). Is volatile e 2 \Cr==3
Tg WranfHEeT & gy g yitadaeie gar C) Robert Koch /s D) Edward Jenner/
69) Who among the following Sultans tried to prohibit  74) Cripps Mission came 1o india in .
sati ? - A
' e B s A s w2
FafEd # 2 vy geam S o s s . .
A) 194 B) 194
SR foar 2 C) 1840 D) 1946
A) Mohammad Bin B) Jalaluddin Khilji /
Tughlag/ HgFme et SeTaels fResh
GUECD
HersdE e
FUECH
JMJ2015 / 8178586 10 P.T.O




Part B Gerersl Saowiedns snd Ganaral Awareness / BT & SEw= 7iF U8 BT SaaTi

75) Name the acid attack victim who was honourad
with prestigious “International Woman of Courage”
award on 4 March 2014 at the State Department
Ceremony in Washington by Michelle Obama, first
lady of the U S,

URRE 3itw $1 DT A aaEr B AR
wuH Aftar e sam g altea & 4 5
2014 = AT T Fawr §ARE & wiatsa

GERN “HAUSE 19 \IEHT AfgeT & AT fahar

qr?
A} Malini / =nfar B) Nirbhaya / frstar
C) shivani / Rramh D) Laxmi s wewr
76) The founder of the ‘Arya Samaj was:
HIE AT § TEAGF S o
A) Raja Ram Maohan B) Dayananda
Roy/TSTIHA AR ~  Saraswathi / ggwe
g HEgar
C) Vivekananda/ D) Annie Besant / Tt
il e

B0) Red rot of sugar cane is caused by:

e S e wery fRed o aadr 87
A) Phylophthora B) Alternaria alternata
mnfestans it Heexaer
C) Colletotrichum D) Cercospora
falcatum personata

FICIGISH horheH HerEaRT gEfder

81) Mac Iver says 'Kinship creates society and society
al length creates’ ?

ATHaT Fge £ -TFY-aat F FATS aar § AR
FHad: AT § F47 g4aT £7

B) City state / v T
D) Association | &7

A state /5
C) Nation / =

82) The hydrophilic nature of DMA is due to the
presence of:

DNA T STeReTT F959 fanar Atgeel & swor gar
B7

A) thymine base B) deoxyribose sugar

77) In a solar or lunar eclipse, the region of earth's UTHT & SiEETEE a9
T A = g % el E v faet s hydrogen bonds wrEsE g
FarsnoreT & el &2 RfeT gt au

A) Twopars/zrsmr  B) Three parts /i 77T 83) Interferons are synthesized in response to
©) Five parts /arasmr  P) Four parts / Tt s St ey S # dufeee i § 2
A) B) -

78) Which Article of the Indian Constitution defines the Virus { farog Biactsria,{ ST
duties of the Chief Minister? C) Fungi/wa% D) Mycoplasma /
HIIT BiEen= & fre sidgete 3 geadd & wf AT
FT RN oy ara & 84) The first law of thermodynamics is simply the case

of?
A) Article 163 / 3= B) Anticle 166 / e cTSATTCRRY i Srear Foraan wrarte-rerar el W
163 166 HIFATE ?
[ 04 : D :
) Article 167 1 =35 D) Article 164 / 3mgeie By The law of heat B) The law of
167 164 éxchange conservation of
Sy ST & S energy
79) Tulsidas wrote Ramcharitamanas during the reign % T3 & TR ¥
of
C) Charle's law D) Newton's law of
FEHEE & THARaAY BEE e ae & e et B ok
A) Jehangir /st B} Akbar / 3rer e & et fam
C) Rama Raya / T#T T2 D} Krishnadeva Raya /
FoTeE I
IMJZ075 [ 8178586 1 PT.0




Part B General Knowledge and General Awarersss / ST T #T 507 05 Bon=s s1aFd

85) The sense of balance is achieved by:

Hel S FPf e g &7
A) Spinal chord B) Cerebrum equilibrium
equilibrium ARy W
A oa HgeleT
C) Thalamus equilibrium D) Cerebellum
draw Haer equilibrium :
HAATETHIT Helet

86) Nitrogen in water is commonly found in the form of

AT F AL HHAN 9T FE T oS I g 2

A) Nitric oxide / ssfee B), Nitrate / st
JFaEs

C) Nitrite / ATz D) Nitrous oxide / siTsea

st

SUERIEE]

87) Name the kingdom which first used elephants in
wars?

3H U9 1 AH Fasv S8 Ugal a) Ig 7 ey

& SEIATH far?
A) Champa / 5#q1
C) Kosala / #hra

B) Magadha / #eTer
D) Avanti / sraweht
88) Which one of the following chapters in the Indian

Constitution guarantees fundamental rights to the
people?

AR dfaue & Prafaf@s & @ fee searg i
ST T ANENHE HEwR 2w v E7

A) Part 1/ s
C) part it/ smr |

B) part Iv / s Iv
D) part i/ smwer

89) Alow interest palicy is also known as :

3e9 =ara Aif 1 AR F=r FEd #2
A) income generating  B) investment policy
S o A
1 o A
/51’ cheap money policy D) dear money policy
wEAr AgrAfa e wgr A

90) A reversible and an irreversible engine are working
between the same limits of temperature. The
efficiency of

U 3T AR U Hegohag §57 aI9HT+ & HHH
it s dasd s @ E &

A) Each engine is 100% B) The reversible engine

T o ZeTar is greater than the
g irreversible engine
100% g 3CHFD S I gHaT
HlHrg s
Ht gl
C) The irreversible D) The two engines is
engine is greater equal
than the reversible STt Y ZaTaT
engine qlt "
WA T Sated HY T gt
CETCT 3eHFT 3ot
ity gl
91) The most abundant element is
HEH WG AT H e arer aem a2
A siicon/Bfmm B Nirogen /st
C) Oxygen/stwdsmr D) Calcium / $vram
92) The fleshy thalamus is edible in
TEER derw e & @ Avm R 2
A) Mango / 3T B apple /&
C) Orange / FewT D) Tomato / zaTex
93) Who constructed Humayun's tomb in Delhi?
feeeht & 50 &7 Awawr hae aearar a7
A) Babar /R ?) Humayun / §ATg,

D) Haji Begam / &raft
A

C) Akbar ! 3Fat

JMJZ2015 [ B1785E6
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Pari B Genersil dsssesige snd Ganeval Awareness / 3T B AT 7 09 BF0-8 Jei

94) Regarding money supply situation in India it can be
said that the :

R F mger g f R Famru A sar e
gFEarE

A) Currency with the
public is more than

B) Currency with the
public is less than the

the deposits with the deposits with the
banks. banks.

AT & T AT AT SeACT % 9T Hel de
Ham g aosd| AT aAFAE|

C) Currency with the D) Currency with the
public is almost equal public is inconvertible

to the deposits with only.

the banks AT ¥ IR T A
TN F TG oy

A A F U |

895) The total number of planets revolving around the
sun is

T & TR 30 T Ty o o B 22

B) Eight/3ms
D) Five /arw

A) sixioE
C) seven/wm
96) Economies of a firm are:
Rl wa & gemer w2 §?

A) Saving in it's B) Areduction inits

88) Who among the following is named as "Haryana
: "

Ta=aTag # O Fie gitaor g @7 F 3
sl

A) Kapil Dev | Ffer 29 B) MNawab Pataudi/
. e gl

C) ajayRatsa/smm D) Ajay Jadeja/ 35
= AT

99) The States reorganization in 1956 created 7
156 A ysat A gFiGA AT 7
A) 17 Statesand 9 B) 14 States and 6

Union Territories Union Territories
17T AR o wa 14T i dy
T O T BT T

C) 17 States and 6 D) 15Statesand 9
Union Territories Union Territories
17 =9 3N 6 /Y 15usg A9 dEy
T T g1 T T &

100) The resources which are obtained from bio sphere
and have life are:

St Hee ¥ ured 3 08 FEE S & § o shaw
B E?

A) Potential Resources [ B) Abiotic resources /

production costs selling expnses awren €t e e
e T # T = # A E) Biotic resources / D) Renewable
T Bt resources /
C) Its dominance ofthe D) Anincrease in its Adraoig F=E
market. profits
TSN F THeE Gt iy
97) Reservation for the Scheduled castes and
Scheduled tribes in the service has been provided
in the Indian Constitution under -
AT A & B gete § Hauiad smaat
AR sgafa o= snfoat & v 3mer & saus
T g 7
A) Article 365 / e B) Article 375 / et
365 375
C) Article 315/ 3gede D) Aticle 335 / srgetse
315 335
JMJ2015 / 8178586 13 PTO
—— —_——




Far O Quantitative Aptifude / BIeT 7 H5-0% i

106) A man bom in the year 1896 A.D. If in the year x2

i A.D. his age is x4, the value of x is?
Part C: Quanti = U HEA S S0 1806 5. A gam | g ad e d &
F
3T 1. HEACHE Fet FR A4S A x AT FAE? N\
: {
101) The angle between the graph of the linear equation A) 44 B) 42 "}{f
239x-239y+5=0 and the x-axis is C) 40 D) 36 s }c/q % A
@ geieTor 230x- 5= =
I39x 239750 3 x - 30y 3y e 107) If in a triangie ABC, BE and CF are two medtané("
# &ioT s T 2 perpendicular to each other and if AB=19cm and
AC=2Zcm then the length of BC is
A) 459 B) 30
C) 600 D) 0° afz %= ABC #, BE 3R CF 0% guy ¥ wr=aq ot

Aritasr 1@ § 3R 37 AB=19cm &2 AC=22cm
102) Incomes of x and y are in the ratio 4:3. Their

expenditures are in the ratio 12:7. Both save % RBCE $ Focetl & 7

3200/- at the end of the month, then the income of A} 26cm B) 13cm
is?

X is? C) 20.5¢cm D) 19.5cm

xRy A HT 43 F 3qua A ¢ | w00 127 F
HgUT A | St & 7 & 37 A T 3200/ Frawa
FT &, A x Fr g RraAr 2

108) Two circles of radii 10 cm and 8 cm intersect and
the length of the common chord is 12 cm. Then the
distance between their centres is

10 cm 3R 8 cm T2 &) & e T 3T T

e FahaT 39 HIe O AT Heg # 20%
He 3iTeha sl & wifeheT 379 angsi 1 10%, i @2
2 & | SFEE F I AT 9T T T T216 &
CEIDE

A) T BOOO/- B) ¥ 2000/-
C) ¥ 6000/ D) T 4000/- At o TS fim=E 12emt ar
103) The mean of x and 1/x is N. Then the mean of x2 3% Sl & dr o o el @1 2
and 1/x%is ? A) B B) 133
x HR U FTAT N E | 2 30T 1/x2 FT AT Far 7 C) 15 D) 10
A) 4NZ-2 B) N2-2 108) The Simplified value of
C) N2 D) 2N?-1
(00539-0002)x04+056x007 =7
104) The number of paving stones each measuring 0.04x0.25
2.5m x 2m required to pave a rectangular courtyard F AP AA FATE ?
30m long and 17.5m wide, are
X . : , A) 5.996 B) 0.5996
N3y 308 S 17,590 9 SR o e c; 599.6 ni 59.96
s oo & forw 2,550 x 280 A9 & fras oot gat
110) The term, that should be added to (4x2 + 8x) so that
r};\, ‘_E' S 3T T3 ? resulting expression be a perfect square, is
' A) 105 B) 80 (4x? + Bx) & wtar #r Fwr A sw $r gfom
b C) 33 D) 99 ;
8, ) ) ) TEHETd GOt &9 & A0 |
;fi ~105) A Trader marks his goods 20% above cost price A) 2 B) 4
* 74 but allows his customers a discount of 10%, the c) 1 D) 2x
oy cost price of a blackboard, which is sold for Rs 218,
ey is

111) The average of some natural numbers is 15. If 30 is
added to first number and 5 is subtracted from the
last number the average becomes 17.5 then the
number of natural number is 7

T Upel HEATHT &1 ghr 15 ¥ | af ogeh s
30 =g fear o ¥R ARE e A s wer R AT

#,JE} 7 200 B) 7196 ar 3T 17.5 WwWaT € | e HEat £ wear e
C) T108 D) T180 20
A) 15 B) 30
c) 20 D) 10
“JMJZ015 / 6176586 14 P10




Fart C: Quantitalive Aptlude / 59T T FEQTRS HRTer

Directions: In Question nos. / fAder : 397 F&4T 11210 116 &,

The expenses of a country for a particular year is given in Pie
Chart. Read the Pie Chart and answer the Questions,

9T T1E # faet der dr 3y fviw & s qute v | o ard

FTHCTTT FNAT HITF &7 It A
Educaton | Heam
4 Ea-iraz]
R 10% ports
£t 547 o o,
15% A
State Developmen 3006
Ty flras
/ Others
155 /a,ﬁu- L

.-4" Flan

TrEw

112) If the total amount spent by the Government during
the year was ¥1,00,000 crores, then the amount
spent on Health and Education together was

Ife TR gan &y # wo $r 78 For 7 T1,00,000
F3 O, o Ty AR R w Femes o e
ifer w= fy &7

A) 225,000 crore /&0 B) 720,000 crore / FIE
C) 715,000 crore /70 D) % 30,000 crore / FE

113) If the total amount spent by the Government during
the year was ¥3,00,000 crores, the amount spent

on state development exceeds that on sports by
e TR gany av & @ $r 78 o 1fer 3,00,000
F3 A, A U eEm wEs fr g v ast w
@d g N & e it dadrd

A) 745,000 crore /=05 B) 2 25,000 crore / FE
€) 735,000 crore /#= P) 7 30,000 crore / FE

114) The precent of less money spent on non plan than

115) The percent of excess money spent on Others than
that on Sports is

Tt B geen 7 Hey ey o F feae vt st
orEgHraE?

A) 27% B) 28%
c) 26% D) 25%
116) The percent of the total spending that is spent on
health is
T I G Tohclel Wi Ui @ frarg 7
A) 20% B) 15%
C) 25% D) 30%

117) 12 monkeys can eat 12 bananas in 12 minutes. In
how many minutes can 4 monkeys eat 4 bananas?

12 et 12H 12 TATe A W AFE | 4 ToT 4 el
frae Bee Farasa g ?

A 4 B) &
c) 12 D) 10

118) The smallest whole number that is o be multiplied
with 59535 to make a perfect square number is x.
The sum of digits of x is ?

o e ot HET Fr 59535 F TV Fle OX 9T F97
HEAT aac § 98 HEATx & | x & Wb ST AT FaT§ 7

A) 6 B) 5
c) 9 D) 7
119)
J10+J25+J1ua+ﬁ‘154+m i
5 :

A) 8 ) 4

c) 1 C/gj 2

2

120) The height of a triangle is increased by 10%. To
retain the original area of the friangle, its
corresponding base must be decreased by?

e, FHege Y FaE 10% Far & A ¥ | B waw
BT ATT 1@ & oI ST Ag8uT WU Bhaar

that on defence is T FLAT e
TETT & g & Teae o & fras afeg =1
ofRr @ frard? g%% 10% g;% 9%%
A) 5% B) 10%
C) 15% D) 12% A) r' B) C) D)
-\
\2 ~ i
o~
".‘ﬁfﬁi\‘
v//
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Pr O Ouanitative Aptitucs / ST T FEUHS IR

121) Provided, sin (A-B) = sinA cosB - cosA sinB, then

sin15% will be
afE, sin (A-B) = sinA cosB - cosA sinB, T sin15°
4T BT 7
A) 43 B) 341
242 22
C) 431 D) 43-1
2 242

122) How many seconds will a train 120 metres long
running at the rate of 36 km/hr take to cross a
bridge of 360 metres in length?

36 Foetr, wfrer 1 717 & To=t arel 120 Heg 7w
YereTrE Y 360 YT e G F IR F A vt

TS o ?
A) 48 Sec / He B) 48 Sec / Ho
C) 40 Sec/®o D) 36 Sec /e

123) The perimeters of two similar triangles are 30 cm
and 20 cm respectively. If one side of the first
triangle is 9cm. Determine the corresponding side
of the second triangle.

2 W st @1 aftATs FAY 30 om 3R 20 cm & |
afe T FrsgeT 7 % 97 9em ¥ A Gt g

127) A fruit selier buys 240 apples for Rs 600. Some of
these apples are bad and are thrown away. He
salis the remaning apples at Rs 3.50 each and
makes a profit of Rs 198. The % of apples thrown
away are?

T Es RS TA00A 40 FT WG E | FAAH

sedemTe i R s RUSA § | aE U350 %
e 2 9w S AT & & AT 198 & A FAC ©

| &5 717 #E I SAud FATE 7
A) 5% B) 8%
C) ™% D) 6%

128) If the base of right prism remains same and the
lateral edges are halved, then its volume will be
reduced by

o7 F Fsw &7 HTUR 361 &7 1 3R aned SRl &
AT HTT & AT ST AT FTF HA e 4 8

ST 7
A) 86 % B) 50 %
C) 3333% D) 25 %

129) The ratio of the ages of A and B at present is 3:1.
Four years earlier the ratio was 4:1. The present
ageofAis?

ErmAARe R I T FTa 31 IR ad

e ST A BT | o HeaTE 4:1 o7 | AR aEe g e 2
1 A) 5cm B) 6cm A) 32 Years /o B) 36 Years /af
15 5
_'ﬁ SR Bl B&am C) 48 Years /ad D) 40 Years/a%
l 124) |n a factory, the production of cycles rose to 48,400
' from 40,000 in 2 years. The rate of growth per 130) ¢/ gf A
S 999x + 888y = 1332
u thaely &, e & FIRToT 2 99 7 40,000 & 888x + 999y = 555
. T2 48,400 2 T | wided gz Frexr TR ? Then the value of x+y is 7 / T x+y T Hlel T BT
?
A) 10% B) 9%
C) 10.5% D) 8% A) 555 B) 999
S D) 888
125) 2 km 5 mis equal to ?
2 km 5 m FaE s E 7 131) f @ is an acute angle and 2 sin & +15 cos2 O =7,
A) 20005k By 205k then the value of cot L is
- m ¥ m
o e af (L 7 2 0T 3 2 sin @ +15 0082 0 =7 &
cot QL T AT 53T B?
126) If a shop-keeper purchases cashewnut at Rs 250
per Kg and sells it at Rs 10 per 50 grams, then he A) 4 B) 3
will have e 5 5 4
I uw g@HER T 250 Wid RN & @ § F ]% ]45
@fear & 3 T10 9fy S0 @ 1 X ¥ 3 49
aar & o 3 4 g3 gnm ? Directions: In Question nos. / fder : YT FEAT 13210 135 &
Study the BAR Graph and answer the Questions
R B)
AR (0 25 % Loss / gt T T T AT AT T #7 Feaw e
C) 20%Loss/@m D) 20% Profit/ ams ;
JMJ2015 ] 8178586 16 P1.0
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Part C: Quantitative Aptituds / ST T Feairae Esit

B Quantity in LakhSogar Bags

o o & ww ant # 500
g Value in Crore Rupees

HFG TRIE FO9 A

1996 1997 1993 1999 2000 2001

Years
132) Value per bag was minimum in the year?
uia @R #pg few o sgEas ar?

A) 1998 B) 1996
C) 2001 D) 1997

133) The difference between the bags exported in 1999
and 2000 was 7
1999 3T 2000 # Fae 5 v ant & S
e AT W ?

A) 1,50,000,00
C) 50,000,00

_BJ 1,00,000,00
D) 2,00,000,00

134) Percentage fall in value from 2000 to 2001 is 7
2000 % 2001 & #F & 3 &4 F g

froeT & 7
Ay 75% B) 50%
C) 25% D) 40%

135) The approximate percentage increase in quantity
from 1997 to 1998 was?

1997 & 1998 @& amm & g & A=
wieere frcer o 7

A) 26.5%
C) 27.8%

B) 26.9%
D) 27.3%

136) The diagonal of a quadrilateral shaped field is 24m
and the perpendiculars dropped on it from the
remaining opposite vertices are 8m and 13m. The
area of the field is?

TN RN & &7 F 0T 24m ¥ 3R I T

137) The shadow of a tower standing on a level plane is
found to be 40m longer when the sun's altitude is

45° than when it is 60°. The height of the tower is
FAGE FTUR 9K WE et 1 Wors 53 & F9r 60°
&) g 7 459 B 9T 40m wHA B ¥ | efaw

_ oS
> ¥
A) 30(3+/3)m B) 40({3+/3)m n q,_-< 5
C) 10{3+/F }m D) 20{3+3)m 7 é‘
o
138) The perimeter of a sheet of paper in the shape of 2
quadrant of a circle is 75cm. If's area would be
(Tr=22/7) %
TF g & Tguter & R & FETe F 9RHAW 75 q}} 3
o ¥ | T S Rl BT (1=22/ 7) At
A) 512.25cm? B) 346.5cm? 1 {1"
C) 683 cm? D) 100 cm?

[ M

139) A number is increased by x % ; to get back fo the ‘i:‘;‘/
original number, it is to be reduced by?

TS HEAT FI % % TETAT A & ; aIH He HEAT Al

& Tow 3% free germr g ? 1 (b
¥
A) _10x % B) _100x % L"-HL
100 + x 100 + x ¢
C) =% D x %
"/} 100 + x

140) A man bought a watch at 25 % discount on the
original price. He got Rs 40 more than the original
price by selling it at 140% of the price at which he
bought. The price of buying the watch was ?

T AT & HF FIAT 9 25% G 9 UF =i @idr

| 3R T e ot v @ 3TF 140% I %
doA R IV A a0 T s EE ad
Tl S FrRg F A ?

A) T 800
C) T700

B) T 900
D) 7600

141) 'Q' is the circumcentre of triangle ABC. If LBAC
=50 then LOBC is

'0' 39 ABC &7 Uit & | I LBAC =500 ar

it & F=TT 7T FEe 8m HIT 13m E | & # aaee LOBC foeam 21em ? Hﬁ@‘}m
v
et ® ? A 100° B) 50° {
A) 252 m? B) 96 m? C) 130° D) 40° '&1
C) 186 m? D) 1152 m? = 2
Y 35 e Pl
JNIJ2015 8178566 17 PTO




I Fwe C Ousettative Aptituda / 817 7 SEITE 310)
142) 20 men can do a piece of work in 18 days. They 147) E3™"¥=3*v= {27 then the value of 3°7Y¥ will

worked together for 3 days, then 5 men joined be?
them. In how many more da is the work = =
, completed? 2 B WP V= 1= 7, A ¥ &1 T T BT 7
20 HEH T FH #1 18 BF A I wwa § | 3w 3 A 1 B) 3
[ T e 1 e, 593 a2 5 3l 3o |y fE
i1 WA &1 1T | e et 27 2 7 2% e 2 o 98 - —L‘@.
' A) 13 B) 14 S
\ Y12 D) 15 r%ﬁjf 148) The ®8= swace area of 3 regular triangular
pyrarmc wi sach adges of length 1om is?
143) From two points on the ground and lying on a qﬁmﬁmmmﬁﬁmﬁqﬂg
straight line through the foot of a pillar, the two
angles of elevation of the top of the pillar are = To% 875 hoen g 7
complementary o each other. If the distances of _— B) 4 om? )
the two points from the foot of the pillar are 12 N & 3om? ) 4cm ;‘"’ 4]
metres and 27 metres and the two points lie on the D o
same side of the pillar, then the height{in metres) of = 'lf‘;ﬂ'"‘ ] 4 “[3—5“‘2 4
the pillar is 3

FHA R G S R F T I w R
ﬁ@ﬁ#ﬁﬁﬂ?%ﬁ**mﬂw“ﬂ*wtm 149) If sin® + sin6 =1, then the value of c0s?8 + cos'e

© | 3 @ o @ et Rt i &y 12 Few stk 27 - . _
ek oot e ah R a o | o, SRS MO =1 Sk cowe + con' W e
@Y i w7 (Frey #) Rt 2 2 Ve o ?
972 TN ~B) 1
A} 15 B) 12 5
c) 16 D) 18 )i !

150) A bus moving at 40 km per hour covers a distance

144) Ifx+(1!x}=2,thenﬂwevalueofo{HxE}Fs in 6 hours 15 minutes. ¥ & travels the same

il ﬂﬁ‘x+[1.‘x}=2.ﬂ‘!‘x-‘+{‘lu=} &1 AT 47 g7 disiancemwmpwmhmvlongwillittaka-m
AN B) 212 cover the distance 7
: . =i/ 40 Fat. ST 1 7 & et el a6 215
ﬁ _ , Predgh aasd | T2 3 50 et oigr &y
145) Two isosceles triangles have equal vertical angles
and their areas are in the ratio 9:16. Then the ratio ?ﬁ#ﬁhﬁ@ﬂﬂfﬁﬂ{&ﬁmm#
of their corresponding heights is o armsaT?
& Hefae e & ofnd @ror axrat 2 3 3w 3 o 4
: A) ehrs a2 % 2hs.ser  ASg
a#amwsﬂﬁ*aﬁm?rﬁ?a‘rmﬁaqﬂrﬁiﬁﬁ €} g5l e
. .
YT T g 2 s o
A) 3:4 B) 8:45
| C) 4:3 D) 45:8
146) A certain amount of money earns Rs 540 as Simple
Interest in 3 years. If it earns a Compound Interest
of Rs 376.20 at the same rate of interest in 2 years,
find the amount(in Rupees),
Pt URTRY O HTRIRT saet & w9 9 3 99 3 7540
e | 97 2 2 F sl  smrer ax ww 237620 37
| Thhe = e d ufdr (et ) we S /
A) 1800 B) 2100
C) 2000 D) 1600
TMJ2075 6178586 = 18 AN R {S
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Part D: English Comprehension
T T 3l o

160)
A) Cemetery B} Cemetry
C) Cemetary D) Symetry

-

Directions. In Question nos. / [Ader ; ¥#7 T&4T 151 to 155 &

@ part of the sentence is underlined. Below are given
alternatives to the underfined part which may improve the

sentence. Choose the correct alternative. In case no
improvement is required, choose 'No Improvement’ option. Mark
your answer in the Answer Sheet.
151) | was angry at myselff for making such a big
mistake.
—A) with B) noimprovement
C) about D) on

152) She is very eccentric woman.

A) Unusual
C) Impatient

_B) Generous
D) Noimproverment

153) The workers should have been more meticulous,

A} No improvement B) Precise
C) Committed 3) Punctual
154) Torture and trauma has made her a mental patient.
A) Lunatic B) Mad
C) Mania D) No improvement

155) The chickens in his farm are fatted up nicely.

A) Mo improvemant
C) are fattening

—

B) are fattened
D) are fattying

Directions. In Question nos. / fder : ¥#7 HF&GT 161 to 165 &

you have a passage with 5guestions. Read the passage
carefully and choose the best answer to each question out of
the four alternatives and mark it by blackening the appropriate
circle in the Answer Sheet.

Passage
Research is a detailed study of a subject undertaken on
a systematic basis in order to increase the stock of
knowledge, including knowledge of man, culture and
society, and the use of this stock of knowledge to devise
new applications. It is used to establish or confirm facts,
reaffirm the results of previous work, solve new or
existing problems, or develop new theories. To test the
validity of instruments, procedures, or experiments,
research may replicate elements of prior projects, or the
project as a whole. The primary purposes of basic
research are documentation, discovery, interpretation, or
the research and development of methods and systems
for the advancement of human knowledge. There are
several forms of research: scientific, humanities, artistic,
economic, social, business, marketing, etc.

Academic publishing describes a system that is
necessary in order for academic scholars to review the
work and make it available for a wider audience, Most
academic work is published in book form. There is also a
large body of research that exists in either a thesis or
dissertation form. Many researchers spent their time
applying for grants for research funds. These grants are
necessary not only for researchers to carry out their
research, but also as a source of merit.

Directions: In Question nos. / Rder : ¥o7 F&4T 156 to 160 &,

four words in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark your

161) What is research?

A) Research is the
attempt to limit the

B) Research is the
creation of new forms

answer in the Answer Sheet. growth of knowledge. of knowledge.
156 C) Researchisa D) Research is the

) process having no destruction of

A) Encestral B) Ansestral practical use. previous works.

C) Ansasiral D} Ancestral :

} /J 162) How many kinds of research are there?

157) A) There is only one B} There are seven

A) Quriocity B) Curiosity kind of research, dlfferen; kinds of

Curiousity D) Curioucity i
© C) There are two D) -There are different
different kinds of kinds of research.

158) research.

A) Antecedant B) Entecedent

C) Intecedent D) Antecedent
159)

A) Delibarate _B) Aberrance

C) Maditation D) Naseating

JMJ2015 / 8178586 18 P.T.O '
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163) Why is research conducted?

A) Researchis
— conducted in order to

B) Resesarchis
conducted in order to

minimize the result of verify information.
previous works.

C) Researchis D) Research is
conducted in order o conducted in order to
develop new destroy facts.
problems.,

164) Select the answer which best reflects the view
expressed in the passage.

A) Researchersnever B) Documentation is

apply for grants. important in
research,
C) Researchcanthrive D) Grants are not based
—Without grants. on merit

165) Choose the most appropriate answer from this
passage.

A), Academic publishing B) Academic publishing
is meant only for is meant to benefit
experts. the general public.

C) Academic publishing D) Academic publishing
is meant only for is meant only for
professionals. academicians.

Directions: In Question nos. / i@ - w5 &F&AT 166 to 170 &
some parts of the sentences have errors and some are correct.
Find out which part of a sentence has an error and blacken the
circle corresponding to the appropriate correct option. If a
senmnmisﬁuaﬁunaﬂar,bfackmﬂmcaﬂemmnmm

"No Error” option in the Answer sheet.

166) The team was now in the field and about to take
their place

A) about to take their
place
}} The team was

B) now in the field and
D) No error

167) Our beloved Prime Minister is known to the
prominent figures all over the world.

//AJ the prominent figures B) is known to
all over the world
C) Our beloved Prime
Minister

D) No error

168) The lions kill the animals and eat his meat.

A) and eat his meat
_C) The lions

169) Everyone were happy to hear about his success.

A} to hear B) about his success
C) Everyone were happy D). No error

B) No error
D) kill the animals

178) Hearmng Sese strange noises above, the thought at
once oocoumes 10 me that thieves had entered the

hoese

A) Tt Bweves had B) No error
enErad e house

C) fethougitaonce D) Hearing these
ocourred 1o me sirange noises above

Directions. In QuesSion nos. | R%w - 577 83T 11110 175 %,
out of the four abematives, choose the one which can be
substituted for e piven words/sentences and indicate it by
blackening the appropriate circle in the Answer Sheet.

171) Showing = dislike of anything improper.

A} Rude B) Strict
C) Crude D) Prim

172) Walking in sleep.

A) Somnolence B) Somnambulism
C) Sieepyhead D) Insomnia
173) A person who leaves his own country in order to go
and live in another.
A Immigrant B) Expama_ iate
C) Resfuges D) Emigrant
174) Artistic, musical, or dramatic interpretation.
A) Reparation B) Report
C) Imitation D) Rendition

175) That which cannot be avoided

A) Indifferent B) Inestimable
C) Infallibie D) Inevitable

Directions In Question nos. / 2w : 777 FEIT 176 to 180

choose the word opposite in meaning to the given word and|
mark it in the Answer Sheet

176) Obsequious
A) domineering B} careful
C) clever D) opague
177) Enlarge
A) amplify B) glorify
C) augment D) condense
178) Vaciliate
A) decide B) relieve
C) repsl D) injure
179) Unscrupulous
A) Dedicated B) single-minded
C) superfluous D) Conscientious

JMJZ2015 [ B1TESE6
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80) Tranguil
A) Temporal B) Disturbed
C) Unruffled D) Perpetual

190) She was 50 that she was by all.

A) proud, respected
C)- talented, praised

B) stupid, admired
D) excellent, wamed

Directions: In Question nos. / fder : w¥T F&AT 181 to 185 &,
of the four alternatives, choose the one which best

‘expresses the meaning of the given word and mark it in the
B Shoce

Directions. In Question nos. / f&er : ¥#7 F&FT 191 to 195 &,
four alternafives are given for the Idiom/Phrase underiined in|
the senfence. Choose the alternative which best expresses the
meaning of idiom/Phrase and mark it in the Answer Sheet.

181) Conjecture
A) bias B) truth
C) knowledge D) guess
182) Annihilate
A) Deduce B) Destroy
C) Solve D) Initiate
183) Interference

A) fearful B) honour
C) obstruction D) deference

184) Verisimilitude

A) fantastic B) authenticity

C) grotesque D) festive
185) Quarry

A) denounce B) victim

C) guake D) quest

Directions. In Question nos. / e ; o7 FEAT 186to 190 &,
senfences given with the blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each
question. Choose the correct alternative out of the four and
indicate it by blackening circle in the Answer Sheet.

186) The little boy ran fast that he was for
breath.
A} so, inhailing B) so, gasping

C) too, fighting D) wvery, struggling

187) There were so many points in his speech

that the audience to get the message,

A) superficial, listened B) irrelevant, failed
C) interesting, tried D) relevant, hastened

188) He was so at his job that he was asked to
give a

to the visitors.
A) accurate, display B) able, disclosure
C) -adept, demonstration D) agile, demalition
189) The of the 'Chief was upon him.

A) title, imposed
C) name, dismissed

B) appointment, thrown
D} fitle, bestowed

191) The officer was in the soup when there was a raid

in his office

A) drinking soup
C) to be in trouble

192) To win laurels

B) preparing soup
D) distributing soup

A) Toearn great B) To be disappointed

prestige
C) Tobe victoriousina D) To memarise
game s

193) We must draw the line somewhere.

A) turn the tables
C) put the screw on

B) fixalimit ~—
D) aim at the sky

194) To cut the Gordian knot

A) todoajob g}"fo perform a difficult
perfunctorily task
C) tocuta piece of cloth D) to perform an easy
task

195) The shopping mall is a bee hive of activity.

B) abusy place —
D) a costly place

A) = secure place
C) asweet place

Directions : in Question nos. / fAder - Yo7 &F&GT 196 to 200 &

in the following passage some of the words have been left out.
Read the passage carefully and choose the correct answer fo
each question out of the four alternatives and fill in the blanks.
Passage
A team of Indian engineers __(l)  shown that digital
photographs of the hand may _ (I} _ cholesterol levels in
the body and serve as an early warning signal __{lll)
poor lipid health without a standard blood test.
Researchers believe the programme may be _ (IV} _in
the future and _ (V) into mobile phones to enable it to
analyse digital images of the hand captured in the
camera on a mebile phone.

196)
A) (l) =Has B) (I) = Has been
C) (I)=Are D) (I} =Have o
197)
&) ()= Reveal B) (Il) = Conduct

C) () = Conjecture D) (ll)= Conceal

JMJ2015 7 8178586
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198)
A) (Ill) = Before
c) (1) =8y
199)

A) (IV) = Refined
C) (IV)=Resolved

B8 () =0Of
D) ()= At

B) (V)= Recorded =
D) (V) = Retracted

200)
A) (V)= Fixed B) (V)= Loaded
C) (V)= Formulated D) (V)= Featured
e
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